



St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:12 PM

General Details

 Parcel ID:
 510-0011-00630

 Document:
 Abstract - 01376368

Document Date: 03/16/2020

Legal Description Details

Plat Name: PORTAGE

Section Township Range Lot Block

5 65 17 -

Description: SE1/4 OF NE1/4 EX W 207.88 FT & EX E 207.04FT & EX W 207.20 FT OF E 414.24 FT

Taxpayer Details

Taxpayer Name BRETT TROY G & MANICK LORI A

and Address: 7911 BEITZ RD

ORR MN 55771

Owner Details

Owner Name BRETT TROY G
Owner Name MANICK LORI A

Payable 2025 Tax Summary

2025 - Net Tax \$1,355.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,440.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$720.00	2025 - 2nd Half Tax	\$720.00	2025 - 1st Half Tax Due	\$0.00		
2025 - 1st Half Tax Paid	\$720.00	2025 - 2nd Half Tax Paid	\$720.00	2025 - 2nd Half Tax Due	\$0.00		
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00		

Parcel Details

Property Address: 7911 BEITZ RD, ORR MN

School District: 2142
Tax Increment District: -

Property/Homesteader: MANICK, LORI A & BRETT, TROY G

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$43,100	\$154,400	\$197,500	\$0	\$0	-		
111	0 - Non Homestead	\$16,900	\$0	\$16,900	\$0	\$0	-		
	Total:	\$60,000	\$154,400	\$214,400	\$0	\$0	1856		





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:12 PM

Land Details

Deeded Acres: 21.15 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Sewer Code & Desc:	S - ON-SITE SANITA	4KY 5Y51	EIVI							
Lot Width:	0.00									
Lot Depth:	0.00									
The dimensions shown are nehttps://apps.stlouiscountymn.	ot guaranteed to be surve gov/webPlatsIframe/frmF	ey quality. PlatStatPop	Additional lot i	nformation can be ere are any quest	e found at ions, please email PropertyTa	x@stlouiscountymn.gov.				
	lı	mprover	ment 1 Deta	ails (MH 30X6	i4)					
Improvement Type	Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
MANUFACTURED HOME	2005	1,9	20	1,920	-	DBL - DBL WIDE				
Segment	Story	Width	Length	Area	Foundation	on				
BAS	1	30	64	1,920	FOUNDATI	ON				
DK	0	4	6	24	POST ON GR	OUND				
DK	0	6	6	36	POST ON GR	OUND				
DK	0	12	28	336	POST ON GR	OUND				
Bath Count	Bedroom Count		Room Co	ount	Fireplace Count	HVAC				
2.0 BATHS	3 BEDROOMS		-		- C	&AIR_COND, GAS				
Improvement 2 Details (26X28 PB)										
Improvement Type	Year Built	Main Fl	oor Ft ² (Gross Area Ft ²	Basement Finish	Style Code & Desc.				
POLE BUILDING	0	72	28	728	-	-				
Segment	Story	Width	Length	Area	Foundation	on				
BAS	1	26	28	728	FLOATING S	SLAB				
LT	1	12	28	336	POST ON GR	OUND				
		mprove	ment 3 Det	ails (ST 10X1	4)					
Improvement Type	Year Built	Main Fl		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	14	10	140	-	<u>-</u>				
Segment	Story	Width	Length	Area	Foundation	on				
BAS	1	10	14	140	POST ON GR	OUND				
		Improve	ment 4 Det	tails (Gambre	IV .					
Improvement Type	Year Built	Main Fl		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	19		192	-	otyte dode a bess.				
Segment	Story	Width	Length	Area	Foundation	on				
BAS	1	12	 16	192	POST ON GR					
<u>-</u>		-		ails (ST 16X2	•					
Improvement Type	Year Built	Main Fl		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	32		320	-	-				
Segment	Story	Width	Length	Area	Foundation					
BAS	1	16	20	320	POST ON GR	טאטט				





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:12 PM

		I	ont C Detaile	/\M = = d = b = d\					
Improvement Typ	e Year Built		nent 6 Details	(vvoodsned) ss Area Ft ²	Rasama	nt Finish		Style Co	ode & Desc.
STORAGE BUILDING 0			196 196		Basement Finish			ryie o	- Desc.
Segment Story		v Width			Foundation				
BAS	1	14	14	196		POST ON GROUND			
Improvement 7 Details (BACK LOT)									
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc								ode & Desc.	
CAR PORT	1		200 200				-		
Segme	nt Stor	y Width	Length	Length Area		Foundation			
BAS	1	10	20	200		POST ON GROUND			
	:	Sales Reported	to the St. Lo	uis County A	uditor				
Sa	le Date	-	Purchase Pric	e		CR	RV Num	ber	
00	3/2020		\$165,000			236145			
		As	ssessment Hi	story					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV		Def Land EMV	В	ef Idg MV	Net Tax Capacity
	201	\$43,100	\$147,400	\$190,5	00	\$0	9	60	-
2024 Payable 2025	111	\$16,900	\$0	\$16,90	0	\$0	9	60	-
	Total	\$60,000	\$147,400	\$207,4	00	\$0	\$	60	1,780.00
	201	\$41,700	\$135,400	\$177,10	00	\$0	9	60	-
2023 Payable 2024	111	\$16,100	\$0	\$16,10	0	\$0	9	60	-
	Total	\$57,800	\$135,400	\$193,2	00	\$0	\$	60	1,719.00
	201		\$113,000	\$151,60	00	\$0	9	60	-
2022 Payable 2023	111	\$14,400	\$0	\$14,40	0	\$0	9	60	-
	Total	\$53,000	\$113,000	\$166,0	00	\$0	\$	60	1,424.00
2021 Payable 2022	201	\$30,100	\$97,700	\$127,86	00	\$0	9	60	-
	111	\$9,600	\$0	\$9,600)	\$0	9	80	-
	Total	\$39,700	\$97,700	\$137,4	00	\$0		60	1,117.00
		٦	Tax Detail His	tory					
Tax Year	Special Year Tax Assessments		Total Tax & Special Assessments	Special		Taxable Building d MV MV		Total Taxable MV	
2024	\$1,575.00	\$85.00	\$1,660.00	\$52,78	34	\$119,11	5	\$171,899	
2023	\$1,321.00	\$85.00	\$1,406.00	\$46,99		\$95,412		\$142,404	
2022	\$1,123.00	\$85.00	\$1,208.00	\$33,63	38	\$78,024		\$111,662	





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:39:12 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.